IB/IBRSeries
EHE o Bl




ordering code E] &t

MODEL
B A

90

SIZE
ot

042
QG0
090
115
142
180
220

Notes of product ordering

iR ¥R A AT RS AR BA

IB series

Precision Planetary Gear Boxes

W/ B SRR T R A

- 32

Ratio | #iiEE i
Li=
3.4.5.6.8.10
La:
9.12.15,.16. 18,
20.24.25.30.32,
J6.40, 48 64 100

Rotio/ i 5 Ek i=3:1~-100:1
Backlash/[E] 32 [&] & < 2 arcmin
Output torque/#E%E ~ 2,000N.m
Frame size/#E 544 B 042~|B 220
- P2 |= S2 MOTOR
Backlash Output Input
W o 1 e g W, B
Po: lEW® S51: shaft &
52. shaft with key B8k gz |
P1: B S3: splined shaft &3k SLE 48R
) K1: Hollow shalt ¥ ;
P:: R (SMNEIREE | Eéﬁ!?!iﬁﬂﬂﬁ

K2: Hollow with key B@E7
Ka: SWpline hollow  JE8FL
T: Special require  HPERER

Stardard corneciion if no mark
TR R S E E

IBR series

Precision Planetary Gear Boxes

Rotio/ifti#® bk i=3:1-100:1
Backlash/[2] #2 [ B < 4 arcmin
Output torque/@i4s ~ 2 000N.m
Frame size/f 5158 IBR 042~|BR 220

ordering code R & Ui/ B SRAR TR A

IER

MODEL
RAAW

90

SIZE
A

042
0G0
090
115
142
180
220

L2

STAGE
R

Li: 154
Lz: 26
La: 3B
La: 4JR/ER

- 32

Ratio | #iidLk i
La:
3.4 5 6. 8.10
L=:
9.12.15.16.18,
20.24.25.30.32,
36.40, 48 64, 100

- P2 |- S2
Backlash Cutpul
W LR 3 U

Pa: BE®E  S1: shaft 3k
52. shaft with key Hil#
Pi: W& 53: splined shaft 2E§EE
K1: Haollow shaft FEFL
Pz: SR [ S ER R )
K2: Hollow with key BETL
K3: SWhpline hollow JE& L
T: Special require MPHTRER

Standard cornection if no mark
FET R SR W aE el T

MOTOR

[nput
BTN A L B

A Ee
AR, RNE
Creg f o1 B
Rt



R T

il 1R T R

gtk fom ' | sk | 1IBo42 | IBOGO | IBOGOA | IBODO |IBOS0A | IB115 | IB142 | IB180 | IB220

3 20 55 — 130 — 208 342 588 1,140

4 19 50 — 140 _ 200 | 542 | 1,050 | 1,700

) 22 5] — 160 — 330 G650 1,200 | 2,000

1 5] 20 55 — 150 — 310 600 1,100 | 1,900

7 19 50 0 140 = 300 | 550 | 1,100 | 1,800

8 17 45 — 120 - 250 500 1,000 | 1,600

g 14 40 — 100 — 230 | 450 g900 | 1,500

10 14 40 i 100 i 230 | 450 000 | 1,500

15 20 Hb 55 130 130 208 342 588 1,140

20 19 50 50 140 140 290 | 542 | 1,050 | 1,700

HHIEW AT an Mm 25 22 B0 50 160 | 160 330 | 650 | 1,200 | 2,000

30 20 55 55 150 150 310 [ s00 [ 1,100 | 1,900

a5 19 50 50 140 140 300 | 550 | 1,100 | 1,800

40 17 45 45 120 120 260 | s00 | 1,000 | 1,600

2 45 14 40 40 100 100 230 | 450 900 | 1,500

50 22 G0 &0 160 160 330 650 1,200 | 2,000

B0 20 55 55 150 150 310 | so0 | 1,100 | 1,900

70 19 50 50 140 140 300 | 550 | 1,100 [ 1,800

a0 17 45 45 120 120 250 500 1,000 | 1,600

90 14 40 40 100 100 230 450 800 1,500

100 14 40 40 100 100 230 | 450 000 | 1,500

B E o Nm 1.2 | 3-100 AR EEIH 5

$HEW ) IEN. rom 1,2 | 3-100 | 5,000 | 5,000 | 5,000 | 4,000 | 4000 | 4,000 | 3,000 | 3,000 | 2,000

i BN - rpm 12 | 3a-100 | 10.000[10000[10,000 | 8,000 | 8.000 | 8000 6,000 6,000 | 4,000
- e 1 3-10 — — - =1 =1 =1 = 1 =1 =1
ERETRPO el 2 15-100 — — — — — =3 = =3 =3
i Aremin ] a-=10 =3 =3 =3 = 3 =3 =3 =3 =3 =3
WEHEP 2 15-100 =5 =5 =5 =D =5 =5 =5 =5 =5

Kt . ] 3-10 =5 =5 =5 = =5 =5 =5 =5 =5
mEE P2 kbl 2 | 15~100 | =7 | =7 | =7 =7 | =7 =7 | =7 =7 | =7
T B Nm/arcmin| 1.2 3-100 3 7 7 14 14 25 a0 145 225
FiTiEm SFes N 1,2 3-100 780 | 1,530 |1, 530 3,250 | 3,250 | 6,700 | 9400 | 14,500 | 50,000
HEFEIE HFt N 1.2 | 3-100 250 | 630 [ 830 [ 1,300 [ 1,300 [ 3,000 ] 4,000 ] 6,200 35,000
5 BT 8 o] 1 Feue® M 1.2 | 3-100 390 | 765 | 765 | 1625 [ 1625 | 3,350 [ 4,700 | 7.250 |25,000
{if & hr 12 | 3a-100 20,000*

a 1 3-10) =97%
L n 5 2 | 15-100 =40,

% 1 3-10 0.5 1.3 - 3.7 — 7.8 14.5 28 48
iR “g > [15-100| 08 | 15 | 1.0 | 41 | 53 | 9 | 175 | 33 | &0
{ Him & T 12 | 3-100 —10C~+00C
=i 1,2 | 3-100 SaEAmAE ( NYOGEL 792D )

e 1,2 | 3-100 IPBS
TiEHME 1.2 | 3-100 FEAE
BEEE | n=3000mm, B4 ) dB(A) 12 | 3-100 | =56 | =58 | =60 | =60 | =63 | =63 | =65 | =67 | =70
EIEEEERE
ks il | mELW'| 1Bod4z | IBOBO | IBOGDA | IBOSO | IBOG0A | IB115 | IB142 | IB180D | IB220
3 0.03 | 0.16 = 0.61 = 3,25 | 021 | 2R.08 |69.61
4 003 [0,14 = 0,48 = 274 | 754 | 2367 |54.37
5 003 [0.13 — 0.47 - 271 | 752 | 23.29 [53.27
1 B 003 [0.13 = 0.45 = 265 | 725 | 2275 [51.72
7 003 | 013 e 0,45 = 262 | 714 | 2248 5097
) 003 | 013 = 0,44 - 258 | 7.07 | 2252 |50.84
) 003 [0.13 = 0,44 - 257 | 704 | 2253 | 5063
10 003 [ 013 = 0,44 = 257 | 7.03 | 2251 | 5056
15 003 |003 | 013 | 013 | 047 | 0.47 | 271 | 7.42 |23.29
20 0.03 0,03 0,13 0,13 0,47 0.47 | 2.71 742 |23.28
SR kg - cm? 25 003 (o003 [ 013 | 013 | 047 | 047 | 271 | 7.42 [23.29
30 003 |003 | 013 | 013 | 047 | 0.47 | 271 | 7.42 |23.29
35 0,03 0,03 0.13 0,13 0.47 0.47 | 2.71 742 |23.29
a 40 003 (003 [ 013 | 013 | 047 | 047 | 271 | 742 |[23.29
45 003 [003 | 013 | 0,13 | 047 | 047 | 271 | 7.42 |23.29
50 0,03 0,03 .13 0,13 0,44 0.44 | 257 7.03 |2251
60 003 003 | 013 | 013 | 044 | 044 | 257 | 7.03 [22.51
70 003 [003 [ 013 [ 013 | 044 | 0,44 | 257 | 7.083 [2251
80 003 [003 [ 013 [ 013 | 044 | 044 | 257 | 7.03 [22.51
a0 0.03 0,03 0,13 0,13 (.44 0.44 | 257 703 2251
100 003 o003 [ 013 | 013 | 044 | 044 | 257 | 7.03 [2251




BRI RS R~
Li=1k2 imi#Htki=3-10R

o
L2 L8 , CB
L3 + C10
—_ EI
=S s I i i B ) i
_______ . & f/
1 ]
1| &
| | 15 ;¢5
L4 Ch a
L7 N C4 o
B1 L& L5
—
E i
?: —
La
L1
BRI ST EREE S2
BEfT: mm
Rt |BD42 |BOG0 |[BOSO IB115 |B142 IB180 |B220
01 50 70 100 130 165 215 250
D2 3.4 b5 G55 9 11 13 17
D3 i 13 16 22 32 40 55 75
D4 s 35 50 a0 110 130 160 180
D5 22 45 B0 20 Fis 895 115
D& M4 0, 7TF M5 = 0.BF ME x 1,25F M12 = 1,75P M1G x 2F M20 = 2,56F M20 x 2,5F
o7 56 ED 116 152 185 240 292
L1 42 a0 80 115 142 1B0 220
L2 26 37 48 65 97 105 138
L3 5.5 7 10 12 15 20 30
L4 1 1.5 1.5 2 3 3 3
L& 16 25 32 40 63 70 90
L& 2 3 5 5 6 7
LY 4 g 10 12 15 20
L& 31 61 78.5 102 119.5 154 1683.5
LS 4.5 4.8 7.2 10 12 15 15
L10 10 125 19 P 38 42 42
3 [ 46 70 100 130 185 215 235
a4 Ma =0, 7P Ms = 0.EBP ME=x1P ME = 1.25F M10 x1.5F Mi12x1.75P Mi2=1.75P
c3*® =11 "=M14=16 =19/=24 =32 =3B =48 =hh
g’ 25 34 40 50 &0 a5 116
C5 ‘ae 30 50 80 110 130 180 200
ce* 35 8 4 5 B 8 3]
oy 42 &0 90 115 142 190 220
Cg ¢ 20,5 10 17 19,5 225 20 63
- 85.5 117 143.5 188.5 239 2B8 3684.5
c10" B.75 13.5 10,75 13 15 20.75 53
B1lrs 5 5 & 10 12 16 20
H1 15 18 24,5 a5 4.3 59 79.5




BIRBEIME R R~T
[ 2=0f & ELi=15-100R

(2
L2 L8 8
| L3 C10 LIC7
I — -
el 1
L
_____ sqesm ek LR T T
_____:_ E &
1
l.__H-F' -
[/ k &
C6 ||
Lal C4
L7
(1]
B1 LE LS L2 LE

J—
|
|
=

H1

|
I
j | _||
@ [
T05
Fiq
V@) -

T
|
I
I
-

Lo """i

®h3 = L4 _r:
fEEs S1 st 2 LZ e
Rt |B042 IBOGO | IBOBOA |BO9O | IBoZoA IB115 IB142 IB180 IB220
D1 50 70 100 130 165 215 250
D2 3.4 5.5 6.6 g 11 13 17
D3 e 13 16 22 32 40 55 75
D4 gs 35 50 BO 110 130 160 180
D5 22 45 65 95 75 G5 115
D& M4 % 0, 7P M5 x 0,8P M8 x 1,25P M12%1.75F | M16 % 2P | M20x 25P | M20x 2.5P
D7 56 80 116 152 185 240 202
L1 42 G a0 115 142 180 220
L2 28 ar 48 85 a7 105 138
L3 5.5 7 10 12 15 20 30
L4 1 1.5 1.5 2 3 3 3
L5 16 25 32 40 63 70 a0
L& 2 2 3 5 5 G 7
L7 4 A 3] 10 12 15 20
L8 58,5 72 08 111.5 126.5 143,5 176 2085 248
L3 4.5 4,8 7.2 10 12 15 15
L10 10 12.5 19 28 36 42 42
c18 48 48 70 70 100 10 130 165 215
Co® M4 = 0.7F | M4 = 0,7F |M5 % 0,8P M5 s 0,8F MEx1P | ME=1P | MBx1.25F |M10x15F [M12x1.75P
ot iy =11 [*=11/=12|=14/=16 "= 14/=15875/=16 | =19/=24 |=1%/=24| =32 =38 =48
c4 " 25 25 34 34 40 40 50 B0 85
C5 " oe 30 an 50 50 80 80 110 130 180
cE ° 3.5 35 A 8 4 4 5 & 6
cr*® 42 42 B0 60 a0 90 115 142 190
cs*® 29.5 29.5 19 18 17 17 19.5 22.5 29
co°® 114 138.5 154 178.5 191.5 225.5 292 .5 337 415
c10°® 8,75 8.75 13.5 13,5 10.75 10.75 13 15 20,75
B1 5 5 6 10 12 16 20
H1 15 18 24.5 35 43 50 70.5

I I0E0MT 15-5i .-_-_'.' : Jo 0T A4




IR AT FE A

1 1 R E R
14 il | WiEELE | IBRO42 |IBROGD | IBROSO | IBR115 | |IBR142 | |IBR180 | |BR220
3 9 36 90 195 342 588 1,140
4 12 48 120 260 520 1,040 1,680
5 15 &0 150 325 A50 1,200 2 00
G 18 55 150 310 AO0 1,100 1,800
7 19 50 140 300 550 1,100 1,800
a8 17 45 120 260 500 1,000 1,604
1 2] 14 40 100 230 450 200 1,500
10 14 40 100 230 450 800 1,500
14 - 42 140 300 550 1,100 1,800
20 - 40 100 230 450 200 1, 500
15 14 - - —~ - —~ —
_ : 20 14 — — — — — —
#BIE W M 19 Tn Nm 25 15 80 150 325 850 | 1.200 | 2.000
30 20 55 150 310 G000 1,100 1,800
35 19 50 140 300 550 1,100 1,800
40 17 45 120 260 500 1,000 1,600
45 14 40 100 230 450 a00 1,500
o 50 14 80 100 230 B50 1,200 2 000
80 20 55 150 310 GO0 1,100 1,900
70 19 50 140 300 550 1,100 1,800
80 17 45 120 260 500 1,000 1,600
a0 14 40 100 230 450 000 1,500
100 14 40 100 230 450 o900 1,500
120 e - 150 310 a00 1,100 1,900
140 v = 140 300 550 1,100 1,800
160 e 5 120 260 550 1,000 1,600
180 e o 100 230 450 800 1,500
200 - - 100 230 450 200 1,500
SEL P4 5B Tanor® N 1,2 | 3-200 e ) 5E
HRERMNMIETan pm 1.2 3-200 5,000 5,000 4,000 4,000 3,000 3,000 2,000
o AN EREETon pm 1,2 3-200 | 10,000 | 10,000 8,000 8,000 &,000 6,000 4,000
2 1 3-20 — — =2 =2 =¥ = =2
RS PO arcrmin 5 95900 _ _ =4 < =4 = = 4
2 1 3-20 =4 =d = = = =4 =4
HETRP R 2 25200 =7 =7 =7 =7 = =7 =7
BRI RE P2 arcmin 1 3-20 =5 =86 == =6 =B =5 =6
2 25200 =9 =9 =43 =90 =9 =9 =9
HHEtE Nmfarcmin| 1,2 3~200 3 7780 14 25 50 145 225
BET M SFes’ N 1,2 3~200 T80 1,530 3,250 8,700 9,400 14,500 | 50,000
R E S F.el N 1,2 3-200 350 B30 1,300 3,000 4,000 6,200 35,000
FEE ) 1 Foa® M 1,2 3~200 390 765 1,625 3,350 4,700 7,250 25,000
ERS hr 1.2 3-200 20,000"
: 1 3-~20 = 05%
ME n e 2 | 25-200 = 02%
1 320 0,9 21 6.4 13 24 5 51 B3
L Kg 2 25200 1,2 1.5 7.8 14,2 27,5 54 o5
{& R T 1.2 3200 —10C-+90C
= 1,2 3-200 SRR EEE ( NYOGEL 722D )
[ il S A 12 | 3-200 |PES
o 1,2 3-200 TR E
BEHE (n=2000mm EAE )| dB(A) 1,2 | 3-200 | =61 =63 | =65 | =88 | =70 | =72 =74
AR EEIRE
ek Wk | SiELL | IBRo42 | IBROGO | IBROSO | IBR115 | IBR142 | IBR180 | IBR220
3~10 0,09 0,35 2,25 6,84 23,4 68,9 135,4
1 14 - 0,07 1.87 6,25 21,8 65,6 119,8
20 - 0,07 1.87 .25 21,8 65,6 119.8
I’:’i—ﬂ]'ﬁl.h Hg + ome 15 0,09 _ _ _ _ _ _
20 0,09 = = = = = =
2 25-100 0,09 0,09 0,35 2 95 6,84 23,4 68,9
120-200 = = 0,31 1.87 5,25 2.8 6856
g f il FA T4 ) el e {1 B i A H 0 |




La

IR I T R~F
L1=18 W& Lbi=3~20R<F

a
8 .
|
|
I
|
1
]
i
Qo3| | E[
D o
B1 LB L5
A1 . - e
| 06 Lo
D3
A S fEEI= 50 L10
B{r: mm
Rt IBRO42 IBROGO IBROG0O IBR115 IBR142 IBH180 IBER220
01 50 70 100 130 165 215 250
D2 34 5.5 6.6 2] 11 13 17
D3 = 13 16 22 32 40 55 75
D4 4 35 50 80 110 130 160 180
D& 22 45 60 B0 70 85 115
D& M4 x 0,7P M5 x 08P M8 x 1.25P M12 x 1.75P M16 x 2P M20 x 2.5P M20 x 2 5P
D7 56 80 116 152 185 240 292
L1 a2 &0 an 115 142 180 220
| 2 26 37 A8 65 a7 105 138
L3 55 T 10 12 15 20 30
L4 1 1.5 1.5 2 3 3 3
L5 16 25 32 40 63 70 an
L& 2 2 3 5 5 3] 7
L7 4 6 a 10 12 15 20
L8 31 145 203 259 333 349 484
LD 4.5 4.8 72 10 12 15 15
L10 10 12.5 19 28 36 42 42
ci14 45 70 100 130 165 215 235
g2 Md = 0.7F Ma = 0.8P Max1P M8 x 1.25P M10 x 1.5FP M12 x1.75P M12x1.75P
c3* =11 =14/=16 =18/=24 =32 =38 =48 =55
C4° 25 30 40 50 &0 BS 116
C5 *as 30 50 &0 110 130 180 200
cs* 3.5 8 4 5 6 6 6
c7® 42 G0 a0 115 142 190 220
cs’ 29,5 19 17 18,5 22,5 29 63
co” 86,5 111,5 152.5 191.5 235.5 303.5 378.5
c10’ B75 13.5 10.75 13 15 20.75 53
B1 e 5 5 B 10 12 16 20
15 18 35 43 59 79.5




RN R L R ~T
L2=2F% ¥ tki=25~200R <t

LB

L2

5|8 -
i 3
|
= 8
L5
i
= l P
A ——
La
#2Y3T, S1 vzt s2 L10
EfiL: mm
Rt IBRO42 IBROGO |BROGDO IBR115 IBR142 IB1R&E0 IBR220
D1 50 70 100 130 165 215 250
D2 3.4 5.5 6.6 g 11 13 17
D3 is 13 18 22 32 40 55 75
D4 o a5 50 80 110 130 160 180
D5 22 45 B5 05 75 65 115
D M4 x0.7F | M5x0.8P M8 x 1.25P Mi2x1.75P | Mi6x2P M20 x 2 5P M20 x 2.5P
D7 56 80 116 152 185 240 292
L1 42 B0 90 115 142 180 220
L2 26 37 48 65 97 105 138
L3 5.5 7 10 12 15 20 30
L4 1 1,5 1.5 2 3 3 3
L5 16 25 32 40 63 70 90
L6 2 2 3 5 5 G 7
L7 4 6 8 10 12 15 20
L& 139 163.5 206.5 285 365 431 521
LG 4,5 4.8 7.2 10 12 15 15
L10 10 12.5 19 28 36 42 42
1" 46 46 70 100 130 165 215
c2" Méx07F | M4x0,7P M5 x 0,8F M& x 1P ME x 1,25P M10 % 1,5P M12x1,75P
ca® =11 =11/=12 | =14/=15875/=16 | =19/=24 =32 =38 =48
C4 ° 25 25 34 40 20 B0 82
C5 5as 30 30 50 80 110 130 180
C6 & 3.5 3.5 8 4 5 & B
C7 5 42 42 B0 a0 115 142 180
C8 s 29.5 29.5 19 17 18.5 22,5 29
CO s 80,5 93,5 126.5 165 205 254,5 3235
C10s 8,75 8,75 13,5 10,75 13 15 20,75
B1 ra 5 5 6 10 12 16 20
H 1 16 18 24,5 35 43 59 795

=] A I
gl T




